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A = 
B = NEMA
C =  
D = 
E = NEMA
M = A   AKM8
S = 
T = C , AKM8

C = 
K = 
N = 
S = 

1- = 1024 PPR  (AKM1-7)
2- = 2048 PPR   (AKM1-7)
C- =  (SFD) ( )
R- = 
AA = BiSS  (AKM2-8) 
AB = BiSS  (AKM2-8)
DA = 
         (EnDat2.2, 01) (AKM2-8)
DB = 
         (EnDat2.2, 01) (AKM2-8)
ED = 500 PPR  (AKM2-7) 
EE = 1000 PPR  (AKM2-7) 
EF = 2000  PPR  (AKM2-7) 
EG = 2500  PPR  (AKM2-7) 
EM = 4096 PPR  (AKM2-7)
EH = 5000  PPR  (AKM2-7)
EN = 8192 PPR
         ( AKM 5, 6,7 )
EJ = 10000 PPR
         ( AKM 5, 6,7 )
LA =  (AKM2-7)
LB =  (AKM2-7)

2 = 24 Vdc  AKM2-8
N = 
S = 

B = IP65
       ( AKM2)
C = 0.5 m IP65  (AKM1, 2) , 

 IP65  (AKM3-7)
D =  (AKM2, 3, 4)
G = IP65  (AKM2-7) 
H = IP65  1.5
       ( AKM74Q AKM82)

 M = 0.5 m IP20  (AKM1, 2,3, 4
6 A)

P = 0.5 m IP20  (AKM1, 2, 3, 4 
, 6 A)

S = 
T =  
      1.0  ( AKM8)


